

On (m, h_1, h_2) –Convex Stochastic Processes using Fractional Integral Operator.

Miguel Vivas Cortez^{1,*} and Jorge E. Hernández H.²

¹ Pontificia Universidad Católica del Ecuador (PUCE), Facultad de Ciencias Exactas y Naturales, Escuela de Ciencias Físicas y Matemática. Sede Quito, Ecuador.

² Universidad Centroccidental Lisandro Alvarado, Decanato de Ciencias Económicas y Empresariales, Departamento de Técnicas Cuantitativas, Barquisimeto, Venezuela.

Received: 2 Nov. 2017, Revised: 27 Nov. 2017, Accepted: 1 Dec. 2017

Published online: 1 Jan. 2018

Abstract: We consider and study a new class of convex stochastic processes, called (m, h_1, h_2) –convex stochastic processes. Some Ostrowski inequality for this kind of generalized convex stochastic processes are derived, using the fractional integral operator.

Keywords: (m, h_1, h_2) –convex stochastic processes, Ostrowski Inequality

1 Introduction

The Ostrowski's inequality was introduced by Alexander Ostrowski in [30], and with the passing of the years, generalizations on the same, involving derivatives of the function under study, have taken place.

Ostrowski's Inequality. Let $f : I \subset [0, +\infty) \rightarrow \mathbb{R}$ be a differentiable function on $\text{int}(I)$, such that $f' \in L[a, b]$, where $a, b \in I$ with $a < b$. If $|f'(x)| \leq M$ for all $x \in [a, b]$, then the inequality:

$$\left| f(x) - \frac{1}{(b-a)} \int_a^b f(x) dx \right| \leq M(b-a) \left[\frac{1}{4} + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right] \quad (1)$$

holds for all $x \in [a, b]$.

Recently, several generalizations of the Ostrowski integral inequality are considered by many authors; for instance covering the following concepts: functions of bounded variation, Lipschitzian, monotonic, absolutely continuous and n times differentiable mappings with error estimates with some special means together with some numerical quadrature rules. For recent results and generalizations concerning Ostrowski's inequality, we refer the reader to the recent papers [1, 2, 3, 40, 45]. The convex functions play a significant role in many fields, for example, in biological system, economy, optimization and

so on [12, 36]. And many important inequalities are established for these class of functions. Also the evolution of the concept of convexity has had a great impact in the community of investigators. In recent years, for example, generalized concepts such as s –convexity (see [7]), h –convexity (see [37, 46]), m –convexity (see [4, 11]), MT –convexity (see [28]) and others, as well as combinations of these new concepts have been introduced. The study on convex stochastic processes began in 1974 when B. Nagy in [21], applied a characterization of measurable stochastic processes to solving a generalization of the (additive) Cauchy functional equation.

In 1980, Nikodem [24] introduced the convex stochastic processes in his article.

Later in 1995, A. Skrowronski in [43] presented some further results on convex stochastic processes. In 2014 Maden et. al. [18] introduced the convex stochastic processes in the first sense and proved Hermite-Hadamard type inequalities to these processes. In the year 2014, E. Set et. al. in [39] investigated Hermite-Hadamard type inequalities for stochastic processes in the second sense.

For other results related to stochastic processes see [5], [6], [10], [19] where further references are given.

In [37], Sarikaya M.Z, Filiz H. and Kiris M.E. established some inequalities for differentiable mappings which are connected with Ostrowski type inequality by used the

* Corresponding author e-mail: mjvivas@puce.edu.ec / mjvivas@ucla.edu.ve

Riemann-Liouville fractional integrals. Also, Cristescu G. in [9] wrote about weighted inequalities for Katugampola fractional integral. In the same way, Agarwal R.P., Luo M-J. and Raina R.K. in [1], showed some inequalities associated with a generalized fractional integral based in definition proposed by Raina R.K. in [34], and called fractional integral operator. In all of these papers, the concept of convexity plays a relevant role, and due to its evolution in recent years, other authors have written on it.

2 Preliminaries

This section contains definitions and properties of generalized convexity and fractional integral operators. Recall that a real-valued function f defined in a real interval J is said to be convex if for all $x, y \in J$ and for any $\in [0, 1]$ the inequality

$$f(tx + (1-t)y) \leq tf(x) + (1-t)y \quad (2)$$

holds. If inequality (2) is strict when we say that f is strictly convex, and if inequality (2) is reversed the function f is said to be concave.

In [2], Alomari M. , Darus M. and Dragomir S.S. introduced the following generalized concept.

Definition 1. Let $0 < s \leq 1$. The function $f : [0, \infty) \rightarrow \mathbb{R}$ is called a s -convex function in second sense if

$$f(tx + (1-t)y) \leq t^s f(x) + (1-t)^s f(y) \quad (3)$$

holds for all $x, y \in [0, \infty)$ and $t \in [0, 1]$.

Dragomir S.S and Agarwal R.P, in [9], about Hadamard inequalities, introduced the following definition of P -convex functions.

Definition 2. We say that a function $f : I \rightarrow \mathbb{R}$ is a P -convex on I or $f \in P(I)$ if f is non negative and for all $x, y \in I$ and $t \in [0, 1]$ we have

$$f(tx + (1-t)y) \leq f(x) + f(y) \quad (4)$$

Park J. in [15] introduced the concept of MT -convex function.

Definition 3. A function $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is said to be MT -convex function on I , if it is non negative and for all $x, y \in I$ and $t \in (0, 1)$ satisfies the following inequality

$$f(tx + (1-t)y) \leq \frac{\sqrt{t}}{2\sqrt{1-t}} f(x) + \frac{\sqrt{1-t}}{2\sqrt{t}} f(y). \quad (5)$$

Sanja Varošaneć, in [23], introduced the convex functions

Definition 4. Let $h : J \rightarrow \mathbb{R}$ be a non negative function, $h \neq 0$, with $(0, 1) \subset J$ and J is an interval of \mathbb{R} . A function $f : I \subset \mathbb{R} \rightarrow \mathbb{R}$, where I is an interval of \mathbb{R} , is said to be h -convex function if for all $x, y \in I$ and $t \in [0, 1]$ the following inequality holds

$$f(tx + (1-t)y) \leq h(t)f(x) + h(1-t)f(y). \quad (6)$$

G. Toader introduced in [44] the concept of m -convex function.

Definition 5. For $f : [0, b] \rightarrow \mathbb{R}, b > 0$ and $m \in (0, 1]$, if

$$f(tx + m(1-t)y) \leq tf(x) + m(1-t)f(y) \quad (7)$$

is valid for all $x, y \in [0, b]$ and $t \in [0, 1]$, then we say that f is an m -convex function.

In [20], Shi D-P, Xi B-Y and Qi F., introduced the following definition. (See also [16]).

Definition 6. Let $h_1, h_2 : [0, 1] \rightarrow \mathbb{R}$ and $m \in (0, 1]$. A function $f : [0, \infty) \rightarrow \mathbb{R}$ is said to be (m, h_1, h_2) -convex function if the inequality

$$f(tx + m(1-t)y) \leq h_1(t)f(x) + mh_2(t)f(y)$$

holds for all $x, y \in I$ and $t \in [0, 1]$.

In this paper we propose the generalization of convexity of this kind for stochastic processes.

Definition 7. Let (Ω, F, P) be an arbitrary probability space. A function $X : \Omega \rightarrow \mathbb{R}$ is called a random variable if it is F -measurable. Let (Ω, F, P) be an arbitrary probability space and let $T \subset \mathbb{R}$ be time. A collection of random variable $X(t, \omega), t \in T$ with values in \mathbb{R} is called a stochastic processes.

1. If $X(t, \omega)$ takes values in $S = \mathbb{R}^d$ if is called vector-valued stochastic process.
2. If the time T can be a discrete subset of \mathbb{R} , then $X(t, \omega)$ is called a discrete time stochastic process.
3. If the time T is an interval, \mathbb{R}^+ or \mathbb{R} , it is called a stochastic process with continuous time

Throughout the paper we restrict our attention stochastic process with continuous time, i.e, index set $T = [0, +\infty)$.

Definition 8. Let (Ω, A, P) be a probability space and $T \subset \mathbb{R}$ be an interval. We say that a stochastic process $X : T \times \Omega \rightarrow \mathbb{R}$ if

1. Convex if

$$X(\lambda u + (1-\lambda)v, \cdot) \leq \lambda X(u, \cdot) + (1-\lambda)X(v, \cdot) \quad (8)$$

for all $u, v \in T$ and $\lambda \in [0, 1]$.

This class of stochastic process are denoted by C .

2. *m*-convex if

$$X(tu + m(1-t)v, \cdot) \leq tX(u, \cdot) + m(1-t)X(v, \cdot) \quad (9)$$

for all $u, v \in T$ and $t \in [0, 1], m \in (0, 1]$.

3. *h*-convex if

$$X(tu + (1-t)v, \cdot) \leq h(t)X(u, \cdot) + h(1-t)X(v, \cdot)$$

for some function $h : J \rightarrow \mathbb{R}$ non negative, $h \neq 0$, with $(0, 1) \subset J$ and J is an interval of \mathbb{R}

4. (m, h_1, h_2) -convex if

$$X(tu + m(1-t)v, \cdot) \leq h_1(t)X(u, \cdot) + mh_2(1-t)X(v, \cdot)$$

for some functions $h_1, h_2 : [0, 1] \rightarrow \mathbb{R}$ and $m \in (0, 1]$.

Definition 9. Let (Ω, A, P) be a probability space and $T \subset \mathbb{R}$ be an interval. We say that the stochastic process $X : \Omega \rightarrow \mathbb{R}$ is called

1. Continuous in probability in interval T if for all $t_0 \in T$

$$P - \lim_{t \rightarrow t_0} X(t, \cdot) = X(t_0, \cdot)$$

where $P - \lim$ denotes the limit in probability;

2. Mean-square continuous in the interval T if for all $t_0 \in T$

$$P - \lim_{t \rightarrow t_0} E(X(t, \cdot) - X(t_0, \cdot)) = 0$$

where $E(X(t, \cdot))$ denotes the expectation value of the random variable $X(t, \cdot)$;

3. Increasing (decreasing) if for all $u, v \in T$ such that $t < s$,

$$X(u, \cdot) \leq X(v, \cdot), \quad (X(u, \cdot) \geq X(v, \cdot)) \text{ (respectively)}$$

4. Monotonic if it's increasing or decreasing;

5. Differentiable at a point $t \in T$ if there is a random variable

$$X'(t, \cdot) : T \times \Omega \rightarrow \mathbb{R}$$

$$X'(t, \cdot) = P - \lim_{t \rightarrow t_0} \frac{X(t, \cdot) - X(t_0, \cdot)}{t - t_0}$$

We say that a stochastic process $X : T \times \Omega \rightarrow \mathbb{R}$ is continuous (differentiable) if it is continuous (differentiable) at every point of the interval T . [17], [42], [43], [24].

Definition 10. Let (Ω, A, P) be a probability space $T \subset \mathbb{R}$ be an interval with $E(X(t)^2) < \infty$ for all $t \in T$.

Let $[a, b] \subset T, a = t_0 < t_1 < \dots < t_n = b$ be a partition of $[a, b]$ and $\theta_k \in [t_{k-1}, t_k]$ for $k = 1, 2, \dots, n$.

A random variable $Y : \Omega \rightarrow \mathbb{R}$ is called mean-square integral of the process $X(t, \cdot)$ on $[a, b]$ if the following identity holds:

$$\lim_{n \rightarrow \infty} E[X(\theta_k(t_k - t_{k-1}) - Y)^2] = 0$$

Then we can write

$$\int_a^b X(t, \cdot) dt = Y(\cdot) (a.e.).$$

Also, mean square integral operator is increasing, that is,

$$\int_a^b X(t, \cdot) dt \leq \int_a^b Z(t, \cdot) dt (a.e.)$$

where $X(t, \cdot) \leq Z(t, \cdot)$ in $[a, b]$ [41].

In throughout paper, we will consider the stochastic processes that is with continuous time and mean-square continuous.

Another important aspect for the development of this work is the following.

In [34], Raina R. K. introduced a class of functions defined formally by

$$\mathcal{F}_{\rho, \lambda}^{\sigma}(x) = \mathcal{F}_{\rho, \lambda}^{\sigma(0), \sigma(1), \dots}(x) = \sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k + \lambda)} x^k \quad (10)$$

where $\rho, \lambda > 0, |x| < \mathbb{R}$ (\mathbb{R} is the set of real numbers), and $\sigma = (\sigma(1), \dots, \sigma(k), \dots)$ is a bounded sequence of positive real numbers.

Note that if we take in (10) $\rho = 1, \lambda = 0$ and $\sigma(k) = ((\alpha)_k (\beta)_k) / (\gamma)_k, k = 1, 2, 3, \dots$, where α, β and γ are parameters which can take arbitrary real or complex values (provided that $\gamma \neq 0, -1, -2, \dots$), and the symbol $(a)_k$ denote the quantity

$$(a)_k = \frac{\Gamma(a+k)}{\Gamma(a)} = a(a+1)\dots(a+k-1), \quad k = 1, 2, \dots,$$

and restrict its domain to $|x| \leq 1$ (with $x \in \mathbb{C}$), then we have the classical Hypergeometric Function, that is

$$\mathcal{F}_{\rho, \lambda}^{\sigma}(x) = F(\alpha, \beta; \gamma; x) = \sum_{k=0}^{\infty} \frac{(\alpha)_k (\beta)_k}{(\gamma)_k k!} x^k$$

Using (10), Agarwal, Luo and Raina in [1] defined the following left-sided and right-sided fractional integral operators respectively, as follows

$$\begin{aligned} & \left(\mathcal{I}_{\rho, \lambda, a+; w}^{\sigma} \varphi \right) (x) \\ &= \int_a^x (x-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^{\sigma} [w(x-t)^{\rho}] \varphi(t) dt, \quad (x > a) \quad (11) \end{aligned}$$

and

$$\begin{aligned} & \left(\mathcal{I}_{\rho, \lambda, b-; w}^{\sigma} \varphi \right) (x) \\ &= \int_x^b (t-x)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^{\sigma} [w(t-x)^{\rho}] \varphi(t) dt, \quad (x < b), \quad (12) \end{aligned}$$

where $\lambda, \rho > 0, w \in R$ and φ is such that the integral on the right side exits.

It is easy to verify that $\mathcal{I}_{\rho, \lambda, a+; w}^\sigma \varphi$ and $\mathcal{I}_{\rho, \lambda, b-; w}^\sigma \varphi$ are bounded integral operators on $L(a, b)$, if

$$\mathfrak{M} := \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-a)^\rho] < \infty.$$

In fact, for $\varphi \in L((a, b))$ we have

$$\left\| \mathcal{I}_{\rho, \lambda, a+; w}^\sigma \varphi \right\|_1 \leq \mathfrak{M} \|\varphi\|_1$$

and

$$\left\| \mathcal{I}_{\rho, \lambda, b-; w}^\sigma \varphi \right\|_1 \leq \mathfrak{M} \|\varphi\|_1$$

where

$$\|\varphi\|_1 = \int_a^b |\varphi(x)| dx$$

The importance of these operators stems indeed from their generality. Many useful fractional integral operators can be obtained by specializing the coefficient $\sigma(k)$. Here, we just point out that the classical Riemann-Liouville fractional integrals I_{a+}^α and I_{b-}^α of order α :

$$(I_{a+}^\alpha \varphi)(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} \varphi(t) dt, \quad (x > a, \alpha > 0)$$

and

$$(I_{b-}^\alpha \varphi)(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} \varphi(t) dt, \quad (x < b, \alpha > 0)$$

follow from (11) and (12) setting $\lambda = \alpha, \sigma(0) = 1$ and $w = 0$.

3 Main Results

Lemma 1. Let $X : [a, b] \times \Omega \rightarrow \mathbb{R}$ be a differentiable stochastic processes on (a, b) and such that $|X(s, \cdot)| \leq M$ for all $s \in [a, b]$, and $\lambda > 0$. Then

$$\begin{aligned} & \left(\mathcal{K}_{\lambda, \rho}^\sigma (b-s) + \mathcal{K}_{\lambda, \rho}^\sigma (s-a) \right) X(s, \cdot) \\ & - \left(\left(\mathcal{I}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \\ & = \left(\mathcal{I}_{\rho, \lambda+1, s+; w}^\sigma X' \right) (a, \cdot) - \left(\mathcal{I}_{\rho, \lambda+1, s-; w}^\sigma X' \right) (b, \cdot) \end{aligned} \quad (13)$$

and

$$\begin{aligned} & \left(\mathcal{K}_{\lambda, \rho, w}^\sigma (b-s) + \mathcal{K}_{\lambda, \rho, w}^\sigma (s-a) \right) X(s, \cdot) \\ & - \left(\left(\mathcal{I}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \\ & = (s-a)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho t^\rho] X'(ts + (1-t)a, \cdot) dt \\ & - (b-s)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-s)^\rho t^\rho] X'(ts + (1-t)b, \cdot) dt \end{aligned} \quad (14)$$

where

$$\mathcal{K}_{\lambda, \rho, w}^\sigma (z-y) = (z-y)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(z-y)^\rho].$$

Proof. Integrating by parts

$$\begin{aligned} \left(\mathcal{I}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) & = \int_s^b (t-s)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(t-s)^\rho] X(t, \cdot) dt \\ & = (b-s)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-s)^\rho] X(b, \cdot) \\ & \quad - \int_s^b (t-s)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(t-s)^\rho] X'(t, \cdot) dt \\ & = (b-s)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-s)^\rho] X(b, \cdot) \\ & \quad + \left(\mathcal{I}_{\rho, \lambda+1, s-; w}^\sigma X' \right) (b, \cdot) \end{aligned}$$

and, similarly

$$\begin{aligned} \left(\mathcal{I}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) & = \int_a^s (s-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(s-t)^\rho] X(a, \cdot) dt \\ & = (s-a)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho] X(a, \cdot) \\ & \quad - \left(\mathcal{I}_{\rho, \lambda+1, s+; w}^\sigma X' \right) (a, \cdot) \end{aligned}$$

So, adding both equalities

$$\begin{aligned} & \left(\mathcal{K}_{\rho, \lambda, w}^\sigma (b-s) + \mathcal{K}_{\rho, \lambda, w}^\sigma (s-a) \right) X(s, \cdot) \\ & - \left(\left(\mathcal{I}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \\ & = \left(\mathcal{I}_{\rho, \lambda+1, s-; w}^\sigma X' \right) (a, \cdot) - \left(\mathcal{I}_{\rho, \lambda+1, s+; w}^\sigma X' \right) (b, \cdot), \end{aligned}$$

where

$$\mathcal{K}_{\rho, \lambda, w}^\sigma (z-y) = (z-y)^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(z-y)^\rho],$$

then we just found inequality (13).

Now evaluating the following integral by parts we have

$$\begin{aligned} & \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho t^\rho] X'(ts + (1-t)a, \cdot) dt \\ & = \frac{1}{s-a} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho] X(s, \cdot) \\ & \quad - \frac{1}{s-a} \int_0^1 t^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(s-a)^\rho t^\rho] X(ts + (1-t)a, \cdot) dt \\ & = \frac{1}{s-a} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho] X(s, \cdot) \\ & \quad - \frac{1}{(s-a)^{\lambda-1}} \int_a^s (v-a)^{\lambda-1} \mathcal{F}_{\rho, \lambda}^\sigma [w(v-a)^\rho] X(v, \cdot) dv \\ & = \frac{1}{s-a} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(s-a)^\rho] X(s, \cdot) \\ & \quad - \frac{1}{(s-a)^{\lambda+1}} \left(\mathcal{I}_{\rho, \lambda, s-; w}^\sigma X' \right) (a, \cdot), \end{aligned} \quad (15)$$

similarly

$$\begin{aligned} & \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-s)^\rho t^\rho] X'(ts + (1-t)b, \cdot) dt \\ & = \frac{1}{b-s} \mathcal{F}_{\rho, \lambda+1}^\sigma [w(b-s)^\rho] X(b, \cdot) \\ & \quad - \frac{1}{(b-s)^{\lambda+1}} \left(\mathcal{I}_{\rho, \lambda, s+; w}^\sigma X' \right) (b, \cdot). \end{aligned} \quad (16)$$

Multiplying (15) by $(s-a)^{\lambda+1}$ and (16) by $(b-s)^{\lambda+1}$, we have

$$(s-a)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(s-a)^\rho t^\rho] X'(ts+(1-t)a, \cdot) dt$$

$$= (s-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(s-a)^\rho] X(s, \cdot) - \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X' \right) (a, \cdot)$$

and

$$(b-s)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-s)^\rho t^\rho] X'(ts+(1-t)b, \cdot) dt$$

$$= (b-s)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-s)^\rho] X(s, \cdot) - \left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X' \right) (b, \cdot).$$

Adding the equalities we get the desired equality (1).
The proof is complete.

Theorem 1. Let $X : I \times \Omega \rightarrow F$ be a differentiable stochastic processes and such $|X(s, \cdot)| \leq M$ for all $s \in I$, and $\lambda > 0$. Then we have

$$\left| \left(\mathcal{K}_{\lambda,\rho}^\sigma (b-s) + \mathcal{K}_{\lambda,\rho}^\sigma (s-a) \right) X(s, \cdot) - \left(\left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X \right) (b, \cdot) \right) \right|$$

$$\leq M \left(\mathcal{K}_{\lambda,\rho,w}^\sigma (s-a) + \mathcal{K}_{\lambda,\rho,w}^\sigma (b-s) \right); \quad (17)$$

if in addition X' is a (m, h_1, h_2) -convex stochastic processes we have

$$\left| \left(\mathcal{K}_{\lambda,\rho}^\sigma (b-s) + \mathcal{K}_{\lambda,\rho}^\sigma (s-a) \right) X(s, \cdot) - \left(\left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X \right) (b, \cdot) \right) \right|$$

$$\leq |X'(s, \cdot)| \left((s-a)^{\lambda+1} I_1 + (b-s)^{\lambda+1} I_3 \right) + (s-a)^{\lambda+1} m \left| X' \left(\frac{a}{m}, \cdot \right) \right| I_2 + (b-s)^{\lambda+1} m \left| X' \left(\frac{b}{m}, \cdot \right) \right| I_4, \quad (18)$$

where

$$I_1 = \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt,$$

$$I_2 = \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt$$

$$I_3 = \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt,$$

$$I_4 = \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt.$$

Proof. To prove (17) we use (13)

$$\left| \left(\mathcal{K}_{\lambda,\rho}^\sigma (b-s) + \mathcal{K}_{\lambda,\rho}^\sigma (s-a) \right) X(s, \cdot) - \left(\left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X \right) (b, \cdot) \right) \right|$$

$$\leq \left| \left(\mathcal{I}_{\rho,\lambda+1,s^+;w}^\sigma X' \right) (a, \cdot) \right| + \left| \left(\mathcal{I}_{\rho,\lambda+1,s^-;w}^\sigma X' \right) (b, \cdot) \right|$$

$$\leq M \left\{ \int_0^1 (t-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(t-a)^\rho] dt + \int_0^1 (b-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-t)^\rho] dt \right\}.$$

Evaluating the integrals in the previous braces, we have

$$\int_0^1 (t-a)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(t-x)^\rho] dt$$

$$= (s-a)^{\lambda+1} \mathcal{F}_{\rho,\lambda+2}^\sigma [w(s-a)^\rho]$$

$$= \mathcal{K}_{\lambda,\rho,w}^\sigma (s-a)$$

and similarly

$$\int_0^1 (b-t)^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [w(b-t)^\rho] dt$$

$$= (b-s)^{\lambda+1} \mathcal{F}_{\rho,\lambda+2}^\sigma [w(b-s)^\rho]$$

$$= \mathcal{K}_{\lambda,\rho,w}^\sigma (b-s)$$

making the substitution we have the desired result (17).

To prove (18) we have

$$\left| \left(\mathcal{K}_{\lambda,\rho}^\sigma (b-s) + \mathcal{K}_{\lambda,\rho}^\sigma (s-a) \right) X(s, \cdot) - \left(\left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X \right) (b, \cdot) \right) \right|$$

$$\leq (s-a)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] \left| X' \left(ts+m(1-t)\frac{a}{m}, \cdot \right) \right| dt + (b-s)^{\lambda+1} \int_0^1 t^\lambda \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] \left| X' \left(ts+m(1-t)\frac{b}{m}, \cdot \right) \right| dt$$

Using the (m, h_1, h_2) -convexity of the stochastic processes X' we have:

$$\left| \left(\mathcal{K}_{\lambda,\rho}^\sigma (b-s) + \mathcal{K}_{\lambda,\rho}^\sigma (s-a) \right) X(s, \cdot) - \left(\left(\mathcal{I}_{\rho,\lambda,s^+;w}^\sigma X \right) (a, \cdot) + \left(\mathcal{I}_{\rho,\lambda,s^-;w}^\sigma X \right) (b, \cdot) \right) \right|$$

$$\leq (s-a)^{\lambda+1} |X'(s, \cdot)| \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt + (s-a)^{\lambda+1} m \left| X' \left(\frac{a}{m}, \cdot \right) \right| \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt + (b-s)^{\lambda+1} |X'(s, \cdot)| \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt + (b-s)^{\lambda+1} m \left| X' \left(\frac{b}{m}, \cdot \right) \right| \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt.$$

Doing

$$I_1 = \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho,\lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt,$$

$$I_2 = \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt$$

$$I_3 = \int_0^1 t^\lambda h_1(t) \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt,$$

$$I_4 = \int_0^1 t^\lambda h_2(t) \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt.$$

we have the desired inequality.

This complete the proof.

Corollary 1. Let $X : I \times \Omega \rightarrow F$ be a differentiable stochastic processes and X' is a P -convex stochastic processes then we have

$$\begin{aligned} & \left| \left(\mathcal{K}_{\lambda, \rho}^\sigma(b-s) + \mathcal{K}_{\lambda, \rho}^\sigma(s-a) \right) X(s, \cdot) \right. \\ & \quad \left. - \left(\left(\mathcal{J}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{J}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \right| \\ & \leq |X'(s, \cdot)| \left(\mathcal{K}_{\lambda+1, \rho}^\sigma(s-a) + \mathcal{K}_{\lambda+1, \rho}^\sigma(b-s) \right) \quad (19) \\ & \quad + \left(|X'(a, \cdot)| \mathcal{K}_{\lambda+1, \rho}^\sigma(s-a) + |X'(b, \cdot)| \mathcal{K}_{\lambda+1, \rho}^\sigma(b-s) \right) \end{aligned}$$

Proof. If in Theorem 1 we put $m = 1, h_1(t) = h_2(t) = 1$ then we have

$$I_1 = \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt = I_2$$

$$I_3 = \int_0^1 t^\lambda \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt = I_4$$

and so

$$I_1 = \mathcal{F}_{\rho, \lambda+2}^\sigma [|w|(s-a)^\rho] \text{ and } I_3 = \mathcal{F}_{\rho, \lambda+2}^\sigma [|w|(b-s)^\rho].$$

Replacing these values in (18) we have the desired inequality (19). The proof is complete.

Corollary 2. Let $X : I \times \Omega \rightarrow F$ be a differentiable stochastic processes and such X' is a convex stochastic processes, and $\lambda > 0$. Then we have

$$\begin{aligned} & \left| \left(\mathcal{K}_{\lambda, \rho}^\sigma(b-s) + \mathcal{K}_{\lambda, \rho}^\sigma(s-a) \right) X(s, \cdot) \right. \\ & \quad \left. - \left(\left(\mathcal{J}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{J}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \right| \\ & \leq + |X'(a, \cdot)| \left(\mathcal{K}_{\lambda+1, \rho}^\sigma(s-a) - \frac{\mathcal{K}_{\lambda+2, \rho}^{\sigma_1}(s-a)}{(s-a)} \right) \quad (20) \\ & \quad + |X'(b, \cdot)| \left(\mathcal{K}_{\lambda+1, \rho}^\sigma(b-s) - \frac{\mathcal{K}_{\lambda+2, \rho}^{\sigma_1}(b-s)}{(b-s)} \right) \end{aligned}$$

where

$$\sigma_1(k) = (k\rho + \lambda + 1) \sigma(k), \text{ for all } k = 0, 1, 2, \dots$$

Proof. If in Theorem 1 new put $m = 1$ and $h_1(t) = t$ and $h_2(t) = (1-t)$ we get

$$\begin{aligned} I_1 &= \int_0^1 t^{\lambda+1} \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt \\ &= \mathcal{F}_{\rho, \lambda+3}^{\sigma_1} [|w|(s-a)^\rho], \end{aligned}$$

$$\begin{aligned} I_3 &= \int_0^1 t^{\lambda+1} \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt \\ &= \mathcal{F}_{\rho, \lambda+3}^{\sigma_1} [|w|(b-s)^\rho], \end{aligned}$$

$$\begin{aligned} I_2 &= \int_0^1 t^\lambda (1-t) \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(s-a)^\rho t^\rho] dt \\ &= \mathcal{F}_{\rho, \lambda+2}^\sigma [|w|(s-a)^\rho] - \mathcal{F}_{\rho, \lambda+3}^{\sigma_1} [|w|(s-a)^\rho] \end{aligned}$$

and

$$\begin{aligned} I_4 &= \int_0^1 t^\lambda (1-t) \mathcal{F}_{\rho, \lambda+1}^\sigma [|w|(b-s)^\rho t^\rho] dt \\ &= \mathcal{F}_{\rho, \lambda+2}^\sigma [|w|(b-s)^\rho] - \mathcal{F}_{\rho, \lambda+3}^{\sigma_1} [|w|(b-s)^\rho] \end{aligned}$$

where

$$\sigma_1(k) = (k\rho + \lambda + 1) \sigma(k), \text{ for all } k.$$

Replacing these values in (18) we have the desired inequality (20). The proof is complete.

Corollary 3. Let $X : I \times \Omega \rightarrow F$ be a differentiable stochastic processes and such X' is a s -convex stochastic processes, and $\lambda > 0$. Then we have

$$\begin{aligned} & \left| \left(\mathcal{K}_{\lambda, \rho}^\sigma(b-s) + \mathcal{K}_{\lambda, \rho}^\sigma(s-a) \right) X(s, \cdot) \right. \\ & \quad \left. - \left(\left(\mathcal{J}_{\rho, \lambda, s+; w}^\sigma X \right) (a, \cdot) + \left(\mathcal{J}_{\rho, \lambda, s-; w}^\sigma X \right) (b, \cdot) \right) \right| \\ & \leq |X'(s, \cdot)| \left(\frac{\mathcal{K}_{\rho, \lambda+s+1}^{\sigma_1}(s-a)}{(s-a)^s} + \frac{\mathcal{K}_{\rho, \lambda+s+1}^{\sigma_1}(b-s)}{(b-s)^s} \right) \\ & \quad + \Gamma(s+1) \left(|X'(a, \cdot)| \frac{\mathcal{K}_{\rho, \lambda+s+2}^\sigma(s-a)}{(s-a)^s} \right. \\ & \quad \left. + |X'(b, \cdot)| \frac{\mathcal{K}_{\rho, \lambda+s+2}^\sigma(s-a)}{(b-s)^s} \right) \quad (21) \end{aligned}$$

where

$$\sigma_1(k) = \sigma(k) \frac{\Gamma(k\rho + \lambda + s + 1)}{\Gamma(k\rho + \lambda + 1)} \text{ for all } k.$$

Proof. Taking $m = 1, h_1(t) = t^s$ and $h_2(t) = (1-t)^s$ in Theorem 1 we have

$$I_1 = \mathcal{F}_{\rho, \lambda+s+2}^{\sigma_1} [|w|(s-a)^\rho],$$

$$I_3 = \mathcal{F}_{\rho, \lambda+s+2}^{\sigma_1} [|w|(b-s)^\rho]$$

where

$$\sigma_1(k) = \sigma(k) \frac{\Gamma(k\rho + \lambda + s + 1)}{\Gamma(k\rho + \lambda + 1)} \text{ for all } k.$$

Also,

$$I_2 = \Gamma(s+1) \mathcal{F}_{\rho, \lambda+s+2}^\sigma [|w|(s-a)^\rho],$$

$$I_4 = \Gamma(s+1) \mathcal{F}_{\rho, \lambda+s+2}^\sigma [|w|(b-s)^\rho].$$

Replacing the above values in (18) we have the desired inequality (21).

This complete the proof.

Corollary 4. Let $X : I \times \Omega \rightarrow F$ be a differentiable stochastic processes and such X' is a MT -convex stochastic processes, and $\lambda > 0$. Then we have

$$\begin{aligned} & \left| \left(\mathcal{K}_{\lambda, \rho}^{\sigma}(b-s) + \mathcal{K}_{\lambda, \rho}^{\sigma}(s-a) \right) X(s, \cdot) \right. \\ & \quad \left. - \left(\left(\mathcal{J}_{\rho, \lambda, s+; w}^{\sigma} X \right) (a, \cdot) + \left(\mathcal{J}_{\rho, \lambda, s-; w}^{\sigma} X \right) (b, \cdot) \right) \right| \\ & \leq \sqrt{\pi} |X'(s, \cdot)| \left(\frac{\mathcal{K}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1}(s-a)}{2\sqrt{(s-a)}} + \frac{\mathcal{K}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1}(b-s)}{2\sqrt{(b-s)}} \right) \quad (22) \\ & \quad + |X'(a, \cdot)| \sqrt{\pi} \frac{\mathcal{K}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1}(s-a)}{4\sqrt{(s-a)}} + |X'(b, \cdot)| \sqrt{\pi} \frac{\mathcal{K}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1}(b-s)}{4\sqrt{(b-s)}} \end{aligned}$$

where

$$\sigma_1(k) = \sigma(k) \frac{\Gamma(k\rho + \lambda + \frac{\sigma}{2})}{\Gamma(k\rho + \lambda + 1)}.$$

Proof. Taking $m = 1, h_1(t) = (\sqrt{t}/2\sqrt{1-t})$ and $h_2(t) = (\sqrt{1-t}/2\sqrt{t})$ in Theorem 1 we have

$$\begin{aligned} I_1 &= \int_0^1 t^\lambda \frac{\sqrt{t}}{2\sqrt{1-t}} \mathcal{F}_{\rho, \lambda+1}^{\sigma} [|w|(s-a)^\rho t^\rho] dt \\ &= \frac{\Gamma(\frac{1}{2})}{2} \mathcal{F}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1} [|w|(s-a)^\rho], \end{aligned}$$

$$\begin{aligned} I_3 &= \int_0^1 t^\lambda \frac{\sqrt{t}}{2\sqrt{1-t}} \mathcal{F}_{\rho, \lambda+1}^{\sigma} [|w|(b-s)^\rho t^\rho] dt \\ &= \frac{\Gamma(\frac{1}{2})}{2} \mathcal{F}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1} [|w|(b-s)^\rho], \end{aligned}$$

$$\begin{aligned} I_2 &= \int_0^1 t^\lambda \frac{\sqrt{1-t}}{2\sqrt{t}} \mathcal{F}_{\rho, \lambda+1}^{\sigma} [|w|(s-a)^\rho t^\rho] dt \\ &= \frac{\Gamma(\frac{1}{2})}{4} \mathcal{F}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1} [|w|(s-a)^\rho] \end{aligned}$$

and

$$\begin{aligned} I_4 &= \int_0^1 t^\lambda \frac{\sqrt{1-t}}{2\sqrt{t}} \mathcal{F}_{\rho, \lambda+1}^{\sigma} [|w|(b-s)^\rho t^\rho] dt \\ &= \frac{\Gamma(\frac{1}{2})}{4} \mathcal{F}_{\rho, \lambda + \frac{\sigma}{2}}^{\sigma_1} [|w|(b-s)^\rho] \end{aligned}$$

where

$$\sigma_1(k) = \sigma(k) \frac{\Gamma(k\rho + \lambda + \frac{\sigma}{2})}{\Gamma(k\rho + \lambda + 1)}.$$

Replacing the above values in (18), and using the well know value $\Gamma(1/2) = \sqrt{\pi}$, we have the desired inequality (22).

The proof is complete.

Remark. Taking $\lambda = \alpha, w = 0$ and $\sigma = (1, 0, 0, \dots)$ in Theorem 1 and Corollaries 1,2,3 and 4 we have the corresponding inequalities for Riemann-Liouville fractional integral:

a) For P -convex Stochastic Processes

$$\left| \left(\frac{(b-s)^\alpha + (s-a)^\alpha}{\Gamma(\alpha+1)} \right) X(s, \cdot) - \left(\left(\mathcal{J}_{s+}^\alpha X \right) (a, \cdot) + \left(\mathcal{J}_s^\alpha X \right) (b, \cdot) \right) \right|$$

$$\begin{aligned} & \leq \frac{1}{\Gamma(\alpha+2)} |X'(s, \cdot)| \left((s-a)^{\alpha+1} + (b-s)^{\alpha+1} \right) \\ & \quad + \frac{1}{\Gamma(\alpha+2)} \left((s-a)^{\alpha+1} |X'(a, \cdot)| + (b-s)^{\alpha+1} |X'(b, \cdot)| \right) \end{aligned}$$

b) For convex stochastic processes

$$\begin{aligned} & \left| \left(\frac{(b-s)^\alpha + (s-a)^\alpha}{\Gamma(\alpha+1)} \right) X(s, \cdot) - \left(\left(\mathcal{J}_{s+}^\alpha X \right) (a, \cdot) + \left(\mathcal{J}_s^\alpha X \right) (b, \cdot) \right) \right| \\ & \leq |X'(s, \cdot)| \Gamma(\alpha+3) \left(\frac{1}{(s-a)} + \frac{1}{(b-s)} \right) \\ & \quad + |X'(a, \cdot)| (s-a)^{\alpha+1} \left(\frac{1}{\Gamma(\alpha+2)} - \frac{1}{\Gamma(\alpha+3)} \right) \\ & \quad + |X'(b, \cdot)| (b-s)^{\alpha+1} \left(\frac{1}{\Gamma(\alpha+2)} - \frac{1}{\Gamma(\alpha+3)} \right) \end{aligned}$$

c) For s -convex stochastic processes

$$\begin{aligned} & \left| \left(\frac{(b-s)^\alpha + (s-a)^\alpha}{\Gamma(\alpha+1)} \right) X(s, \cdot) - \left(\left(\mathcal{J}_{s+}^\alpha X \right) (a, \cdot) + \left(\mathcal{J}_s^\alpha X \right) (b, \cdot) \right) \right| \\ & \leq \frac{|X'(s, \cdot)|}{(\alpha+s+1)\Gamma(\alpha+1)} \left((s-a)^{\alpha+1} + (b-s)^{\alpha+1} \right) \\ & \quad + \frac{\Gamma(s+1)}{\Gamma(\alpha+s+3)} \left(|X'(a, \cdot)| (s-a)^{\alpha+2} + |X'(b, \cdot)| (b-s)^{\alpha+2} \right) \end{aligned}$$

d) For MT -convex stochastic processes

$$\begin{aligned} & \left| \left(\frac{(b-s)^\alpha + (s-a)^\alpha}{\Gamma(\alpha+1)} \right) X(s, \cdot) - \left(\left(\mathcal{J}_{s+}^\alpha X \right) (a, \cdot) + \left(\mathcal{J}_s^\alpha X \right) (b, \cdot) \right) \right| \\ & \leq \frac{\sqrt{\pi}}{\Gamma(\alpha+1)2(\alpha+\frac{\sigma}{2})} |X'(s, \cdot)| \left((s-a)^{\alpha+2} + (b-s)^{\alpha+2} \right) \\ & \quad + |X'(a, \cdot)| \frac{\sqrt{\pi}(s-a)^{\alpha+2}}{\Gamma(\alpha+1)4(\alpha+\frac{\sigma}{2})} + |X'(b, \cdot)| \frac{\sqrt{\pi}(b-s)^{\alpha+2}}{\Gamma(\alpha+1)4(\alpha+\frac{\sigma}{2})}. \end{aligned}$$

Clearly, if we put $\alpha = 1$ we have

a') for P -convex stochastic Processes

$$\begin{aligned} & \left| (b-a)X(s, \cdot) - \int_a^b X(t, \cdot) dt \right| \\ & \leq \frac{1}{2} |X'(s, \cdot)| \left((s-a)^2 + (b-s)^2 \right) \\ & \quad + \frac{1}{2} \left((s-a)^2 |X'(a, \cdot)| + (b-s)^2 |X'(b, \cdot)| \right) \end{aligned}$$

b') for convex stochastic processes

$$\begin{aligned} & \left| (b-a)X(s, \cdot) - \int_a^b X(t, \cdot) dt \right| \\ & \leq |X'(s, \cdot)| 6 \left(\frac{1}{(s-a)} + \frac{1}{(b-s)} \right) \\ & \quad + |X'(a, \cdot)| \frac{(s-a)^2}{3} + |X'(b, \cdot)| \frac{(b-s)^2}{3} \end{aligned}$$

c') for s -convex function

$$\left| (b-a)X(s, \cdot) - \int_a^b X(t, \cdot) dt \right|$$

$$\leq \frac{\sqrt{\pi}}{5} |X'(s, \cdot)| \left((s-a)^3 + (b-s)^3 \right) + \frac{\Gamma(s+1)}{\Gamma(s+4)} \left(|X'(a, \cdot)| (s-a)^3 + |X'(b, \cdot)| (b-s)^3 \right)$$

d') for MT -convex function

$$\left| ((b-a)X(s, \cdot) - \int_a^b X(t, \cdot) dt \right|$$

$$\leq \frac{\sqrt{\pi}}{5} |X'(s, \cdot)| \left((s-a)^3 + (b-s)^3 \right) + |X'(a, \cdot)| \frac{\sqrt{\pi}(s-a)^3}{10} + |X'(b, \cdot)| \frac{\sqrt{\pi}(b-s)^3}{10}$$

4 Conclusions

In this paper we have proved an Ostrowski inequality type for (m, h_1, h_2) -convex stochastic processes using the fractional integral Operator defined by Agarwal, Luo and Raina in [1], and we have obtained in Corollaries 1,2,3 y 4 and Remark 3 particularized inequalities for P -convex, s -convex, convex and MT -convex stochastic processes. We expect that the ideas and techniques used in this paper may inspire interested readers to explore some new applications of these newly introduced functions in various fields of pure and applied sciences.

Acknowledgements.

We want to give thanks to the CDCHT (Consejo para el Desarrollo Científico, Humanístico y Tecnológico) from Universidad Centroccidental Lisandro Alvarado for the technical support.

References

- [1] Agarwal R.P., Luo M.J., Raina R.K. *On Ostrowski Type Inequalities*. Fasciculli Mathematici. 56, 5-27 (2016).
- [2] Alomari, M., Darus M., "Ostrowski type inequalities for quasi-convex functions with applications to special means". RGMIA Res. Rep. Coll. 13(2), Article No. 3 (2010).
- [3] Alomari M., Darus M., Dragomir S.S., Cerone P. "Ostrowski type inequalities for functions whose derivatives are s -convex in the second sense". Appl.Math. Lett. 23, 1071-1076 (2010).
- [4] Bai R., Qi F and Xi B. *Hermite-Hadamard type inequalities for the m - and (α, m) -logarithmically convex functions*. Filomat, 27(2013), no. 1, 1-7. **MR3243893**
- [5] A. Bain, D. Crisan. *Fundamentals of Stochastic Filtering*. Stochastic Modelling and Applied Probability, 60. Springer, New York. 2009. **MR2454694**
- [6] Bhattacharya, R. N.; Waymire, E.C. *Stochastic processes with applications*. Classics in Applied Mathematics, 61. Society for Industrial and Applied Mathematics (SIAM), 2009. **MR3396216**.
- [7] Breckner, W.W. 1978. Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer funktionen in topologischen linearen Räumen. Pub. Inst.Math., 23,13-20
- [8] B.C. Carlson. *Special Functions of Applied Mathematics*. Academic Press, New York, 1977. **MR0590943**
- [9] Cristescu, G. "Weighted inequalities for Katugampola fractional integral within the class of s -convex functions". ISREIE (2016), 22-29. ISN 2065 2469
- [10] Devolder, Pierre; Janssen, Jacques; Manca, Raimondo. *Basic stochastic processes. Mathematics and Statistics Series*. ISTE, London; John Wiley and Sons, Inc. 2015. **MR3558939**
- [11] S S.Dragomir. *On some new inequalities of Hermite-Hadamard type for m -convex functions*. Tamkang Journal of Mathematics. 33(2002), no. 1, 55-65. **MR1885425**
- [12] Grinalatt M., Linnainmaa J.T. *Jensen's Inequality, parameter uncertainty and multiperiod investment*. Review of Asset Pricing Studies. 1 (1)(2011), 1-34.
- [13] G.H. Hardy, J.E. Littlewood, G. Pólya. *Inequalities*. 2d ed. Cambridge, at the University Press. 1952. **MR0046395**
- [14] H. Iqbal, S. Nazir. *Semi- ϕ_h and Strongly log- ϕ convexity*. Stud. Univ. Babe-Bolyai Math. 59 (2014), no. 2, 141-154. **MR3229437**.
- [15] I. İşcan. *Hermite-Hadamard type inequalities for harmonically convex functions*. Hacet. J. Math. Stat. 43 (2014), no. 6, 935-942. **MR3331150**.
- [16] Kazi H., Neuman E. *Inequalities and bounds for elliptic integrals*. J. Approx. Theory. 146(2) 212-226, 2007. **MR2328180**.
- [17] D. Kotrys. *Hermite-hadamard inequality for convex stochastic processes*, Aequationes Mathematicae 83 (2012) 143-151. **MR2885506**
- [18] S. Maden, M. Tomar, E. Set. *Hermite-Hadamard Type Inequalities for s -Convex Stochastic Processes in the Second Sense.*, Turkish Journal of Analysis and Number Theory. 2(2014), no. 6, 202-207.
- [19] Mikosch, Thomas. *Elementary stochastic calculus with finance in view*. Advanced Series on Statistical Science and Applied Probability, 6. World Scientific Publishing Co., Inc., 2010. **MR1728093**.
- [20] L. Montrucchio. *Lipschitz continuous of policy functions for strongly concave optimization problems*. J. Math. Econom. 16(1987), no. 3, 259 - 273. **MR0910416**
- [21] B. Nagy. *On a generalization of the Cauchy equation*. Aequationes Math. 11 (1974). 165-171. **MR0353429**
- [22] E. Neuman. *Inequalities involving a logarithmically convex functions and their applications to special functions*. Journal of Inequalities in Pure and Applied Mathematics. 7(2006), no. 1, Article 16. **MR2217179**
- [23] C. Niclescu., L. Peerson. *Convex Functions and Their Applications. A Contemporary Approach*. CMS Books in Mathematics. Springer, New York. 2006. **MR2178902**
- [24] K. Nikodem. *On convex stochastic processes.*, Aequationes Math. 20 (1980), no. 2-3, 184-197. **MR0577487**
- [25] M. A. Noor. *Advanced convex analysis*. Lecture Notes. Mathematics Department, COMSATS, Institute of Information Technology, Islamabad, Pakistan, 2010.

- [26] M. A. Noor. *On some characterizations of nonconvex functions*. Nonlinear Anal. Forum 12 (2007), no. 2, 193–201. **MR2404197**.
- [27] M. A. Noor. *Differentiable non-convex functions and general variational inequalities*. Appl. Math. Comput. **199**(2008),no.623–630. **MR2420590**
- [28] Liu W., Wen W., Park J. “Hermite-Hadamard type Inequalities for MT-convex functions via classical integrals and fractional integrals”. J.Nonlinear Sci.Appl.,9 (2016),766-777.
- [29] W. Orlicz. *A note on modular spaces*. I. Bull. Acad. Polon. Sci. Ser. Sci. Math. Astronom. Phys. **9** 1961 157–162. **MR0131763**
- [30] A. Ostrowski, *Über die Absolutabweichung einer differentienbaren Funktionen von ihren Integralmittelwert*, Comment. Math. Hel. 10 (1938), 226-227
- [31] M.E. Özdemir, A. O. Akdemir, E. Set. *On (h, m) -Convexity and Hadamard Type Inequalities*. Transylv. J. Math. Mech. **8** (2016), no. 1, 51–58. **MR3531967**.
- [32] J. E. Pečarić, F. Proschan, Y. L. Tong. *Convex functions ,partial orderings and statistical applications*. Mathematics in Science and Engineering, 187. Academic Press, Inc., Boston.1992. **MR1162312**.
- [33] B. T. Polyak. *Existence theorems and convergence of minimizing sequence extremum problems with restrictions*. Soviet Math. Dokl. **7** (1966), 72–75.
- [34] R.K. Raina, *On generalized Wright’s hypergeometric functions and fractional calculus operators*, East Asian Math. J., 21(2) (2005), 191-203.
- [35] A. W. Roberts, D. E. Varberg. *Convex functions*. Pure and Applied Mathematics, Vol. 57. Academic Pres. New York - London. 1973. **MR0442824**
- [36] Ruel J.J., Ayres M.P. “Jensen’s inequality predicts effects of environmental variations”. Trends in Ecology and Evolution. 14 (9) (1999), 361-366.
- [37] Sarikaya M.Z., Filiz H., Kiris M.E. *On some generalized integral inequalities for Riemann Liouville Fractional Integral*. Filomat. 29:6 (2015), 1307-1314.
- [38] M. Z. Sarikaya, E. Set, H. Yaldiz, N. Basak. *Hermite-Hadamard inequalities for fractional integrals and relater fractional inequalities*. Math. Comput. Model. **57**,2403-2407 (2013)
- [39] E. Set, M. Tomar, S. Maden. *Hermite Hadamard Type Inequalities for s-Convex Stochastic Processes in the Second Sense*. Turkish Journal of Analysis and Number Theory, **2**(2014, no. 6, 202-207.
- [40] Set E., *New inequalities of Ostrowski type for mapping whose derivatives are s-convex in the second sense via fractional integrals*. Comput.Math. Appl., 63(2012), 1147-1154
- [41] J.J. Shynk. *Probability, Random Variables, and Random Processes: Theory and Signal Processing Applications*. Wiley, 2013. **MR3088510**
- [42] A. Skowronski. *On some properties of J-convex stochastic processes*. Aequationes Mathematicae 44 (1992) 249-258. **MR1181272**
- [43] A. Skowronski. *On Wrighy-Convex Stochastic Processes*. Ann. Math. Sil. **9**(1995), 29-32. **MR186450**.
- [44] G. Toader. *Some generalizations of the convexity*. Proceedings of the Colloquium on Approximation and Optimization, Univ. Cluj-Napoca, Cluj-Napoca, 1985, 329–338. **MR0847286**.
- [45] M. Tunç, *Ostrowski type inequalities via h-convex functions with applications to special means*, Journal of Inequalities and Applications 2013, 2013:326
- [46] S. Varošanec. *On h-convexity*. J. Math. Anal. Appl. **326** (2007), no. 1, 303?311. **MR2277784**.
- [47] Ying Wu, Feng Qi and Da-Wei Niu. *Integral inequalities of Hermite-Hadamard type for the product of strongly logarithmically and other convex functions.*, Maejo International Journal of Science and Technology, Available online at www.mijst.mju.ac.th (2015).
- [48] B. Xi, F. Qi. *Properties and Inequalities for the (h_1, h_2) - and (h_1, h_2, m) -GA-Convex functions*. Journal Cogent Mathematics. **3**(2016)
- [49] B. Xi, S. Wang and F. Qi. *PProperties and inequalities for the h- and (h, m) -logarithmically convex functions*. Creat. Math. Inform. **23** (2014), no. 1, 123–130. **MR3288515**. H. 1984, 196, 198



Miguel J. Vivas C. earned his Ph.D. degree from Universidad Central de Venezuela, Caracas, Distrito Capital (2014) in the field Pure Mathematics (Nonlinear Analysis), and earned his Master Degree in Pure Mathematics in the area of Differential Equations

(Ecological Models). He has vast experience of teaching and research at university levels. It covers many areas of Mathematical such as Inequalities, Bounded Variation Functions and Ordinary Differential Equations. He has written and published several research articles in reputed international journals of mathematical and textbooks. He is currently Titular Professor in Decanato de Ciencias y Tecnología of Universidad Centroccidental Lisandro Alvarado (UCLA), Barquisimeto, Lara state, Venezuela, was invited Professor in Facultad de Ciencias Naturales y Matemáticas from Escuela Superior Politécnica del Litoral (ESPOL), Guayaquil, Ecuador, and actually is Principal Professor and Researcher in Pontificia Universidad Católica del Ecuador. Sede Quito, Ecuador.



Jorge E. Hernández H. earned his M.Sc. degree from Universidad Centroccidental Lisandro Alvarado, Barquisimeto, Estado Lara (2001) in the field Pure Mathematics (Harmonic Analysis). He has vast experience of teaching at

university levels. It covers many areas of Mathematical such as Mathematics applied to Economy, Functional Analysis, Harmonic Analysis (Wavelets). He is currently Associated Professor in Decanato de Ciencias Económicas y Empresariales of Universidad Centroccidental Lisandro Alvarado (UCLA), Barquisimeto, Lara state, Venezuela.